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1

Answer .

 (i)   24 , 42 , -----  , ------  ,  .  .  .

      Common difference = 42 – 24  = 18 

          24 , 42 ,   60   ,   78     ,  .  .  .
     

      Third term  = Second term   + common difference  = 42 + 18 = 60 

      Fourth term  = Third term   + common difference  = 60 + 18 =  78 

 (ii)  ----- ,  24 , 42  , ------  ,  .  .  .

      Common difference  = 42 – 24  = 18 

 
             6     ,   24 , 42 ,    60     ,  .  .  .

      First term  = Second term  -  common difference  =  24  - 18 = 6 

      Fourth term  = Third term   + common difference  = 42 + 18 = 60

  (iii)  ----- ,   ----- ,  24  ,  42  ,  .  .  .

         Common difference  = 42 – 24  = 18 
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          -12     ,     6     , 24 , 42   ,  .  .  .  

    
       Second term  = Third term   - common difference  = 24 - 18 = 6

       First term  = second term   - common difference  = 6 - 18 = -12   

  (iv)  24  ,  -----  ,  42  , -----  ,   .  .  .

        common difference =
Term difference
position difference

= 
x3−x1
3−1

=
42−24
3−1

=
18
2

= 9

       
         24  ,    33   ,  42  ,     51     ,   .  .  .
      

   Second  = First term +  common difference   = 24 + 9  =  33

   Fourth term  = Third term  + common differences  = 42 + 9  = 51

  (v)  ---- , 24 , -----  ,  42  ,  .  .  .

   common difference =
Term difference
position difference

= 
x4−x2
4−2

=
42−24
4−2

=
18
2

= 9

      
         15     , 24 ,   33    , 42  ,  .  .  .

   First term  = Second term   -  common difference   =  24  - 9 =  15

   Third term  = Second term  +  common difference   =  24 +  9 =   33 

 (vi)  24    ,  ----   ,  ----   ,  42  ,  .  .  .

          common difference =
Term difference
position difference

= 
x4−x1
4−1

=
42−24
4−1

=
18
3

= 6

         24   ,   30   ,    36     ,  42  ,  .  .  .

   
  Second term    =   First term   +  common difference  =  24 +  6  =  30  

  Third term   =  Second term   +  common difference  =  30 +  6 =  36 
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Answer .

 (i)  x3 = 34   , x6 = 67

    common difference =
Term difference
position difference

= 
x6−x3
6−3

=
67−34
6−3

=
33
3

= 11

   First term  =  Third term   -  2  x  common difference

                      =  34 – 2 x 11  = 34 – 22  = 12 

   First five terms   =  12  , 23 , 34 , 45 , 56 

 (ii)     x3 = 43 , x6 = 76

    common difference =
Term difference
position difference

= 
x6−x3
6−3

=
76−43
6−3

=
33
3

= 11

   First term  =  Third term   -  2  x  common difference

                       =  43  – 2 x 11  = 43 – 22  = 21

   First five terms =  21  , 32 , 43 ,  54 ,  65

 (ii)   x3 = 2   , x5 = 3

    common difference =
Term difference
position difference

   = 
x5−x3
5−3

=
3−2
5−3

=
1
2

    First term  =  Third term   -  2  x  common difference

                    = 2 − 2×
1
2

= 2 − 1 = 1

    First five terms   =   1 , 1 1
2
, 2 , 2

1
2
, 3 , . . .
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  (iv)     x4 = 2 , x7 = 3

    common difference =
Term difference
position difference

  = 
x7−x 4
7−4

=
3−2
7−4

=
1
3

   First term  = Fourth term   -  3 x  common difference 

                      =  2 − 3×
1
3

= 2 − 1 = 1

   First five terms    =  1 , 1 1
3
, 1

2
3
, 2 , 2

1
3
, . . .

 (v)   x2 = 5 , x5 = 2

    common difference =
Term difference
position difference

= 
x5−x2
5−2

=
2−5
5−2

=
−3
3

= −1

   Fourth term =  Second term   -  common difference

                         =  5 - (- 1) = 5 + 1 = 6 

  First five terms   =  6 , 5 , 4 , 3 , 2 

3

Answer .

  x5 = 38 , x9 = 66

    common difference =
Term difference
position difference

 = 
x9−x5
9−5

=
66−38
9−5

=
28
4

= 7

   25th term   =  5th term  +  20  x  common difference

                     =  38  + 20  x  7   =  38+ 140  =  178             

4

Answer .

 Common difference  =  24 – 13 = 11
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 Term difference  =  101 – 13  =   88   =   8 x 11  =  8 x common difference 

 101 is a term of this sequence .                (  The difference between any two terms of 

                                      an arithmetic sequence is a multiple of its common difference  )

Term difference   =  1001 – 13  = 988                                                ( 988 = 89
9
11

)

Here  988 is not a multiple of the common difference  . So   1001 is not a term of this

 sequence .      

5

Answer .

 First term  = 101  ,   Last term  = 997   ,   common difference  = 7 

 Term difference  =  997 - 101  = 896

 Position difference =  Term difference
common difference

=  896
7

= 128

  Number of terms   = 128 + 1 = 129 

6

Answer .
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Answer .
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